EQUAZ IOV ELere TAR

A Stu = K
2. cos X -
2 Tg w- L
4

ng M~

EsSE HP)

2- w3>><=__'
Z

X = %TH:ZKTT

Xi= 5-11 $2KT

3 %<3 A

X = —-‘h'+ Kt keN
| 27
>

4 Cfgx- / YA

v=TL kw Ke N m
+ / .
K X‘.

v

/T
)<

-.ﬁ




EQVAZIONT RUICOUNSVCIRIL T ALLE ELEREITAR)

)i

L Stw3x- 4 1
2 i

2X-= 'g;zm Ke N !/ >X
Sx":gﬁ-ﬂk}:‘ kéN
N 2o

T EKT 2N

¥ x 274 201 ke
1% BKH \N

9! Cos.()(-l-
ne I &
%3 >
X
MN+T_ 4
5 3

—‘-\
( A= l;+2t'ﬁ kel

ek kel

=

ft

"'}7«

! -
NN B
i

N

I

B IRA

Tk kel

> N

NV

T+2KT e N =




